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g:{3,4,5,9} — {7,11, 15} B & 3N I YbR
g g, f(2) = 3, f(3) = 4, f(4) = f(5) = 5 @1

g(3) = g(4) =7 a1 g(5) = g(9) = 11 A |

O &



https://dl.doubtnut.com/l/_w96125U6TgSo
https://dl.doubtnut.com/l/_lr8py8PaGQHq

7.3 f: R - Rd4T g: R — R, f(z) = cosx
ddl g(z) = 3z gRI Ued &, il gof dYl fog

fAeTet 3R fezami f&6 gof # fog.

O &

8.3 f(x) = 8z dauT g(x) = «'/3, A gof darm

fog @I |

O ra &



https://dl.doubtnut.com/l/_lr8py8PaGQHq
https://dl.doubtnut.com/l/_KmAzMter6lGF
https://dl.doubtnut.com/l/_UNaZ1cy5HM2C
https://dl.doubtnut.com/l/_en1CJvu8kSb1

9, AT 3 f:R— R a2t
g:R — R, f(z) = z* + 2z — 3,9(z) = 3z — 4

B gRYIRA 2 (gof) (x) 7T (fog) (x) R |

O A&

10. 771 fob R fl adfdss w3 & =y ¢l
AEBed f: R — RddTg: R — R,z € R
& fU f(z) = 2° + = + 1 @91 g(z) = 2z gRI
v 1 Fafafad i

(i) fog (i) gof (iii) fof (iv) gog

O A&



https://dl.doubtnut.com/l/_en1CJvu8kSb1
https://dl.doubtnut.com/l/_5m5jw0Ou6PJs

1. 99 e ®Bed f: N — N,g: N — N a1
h:N — R W ICEIK e S
flz) =2z, 9(y) =3y + 4 GE)
h(z) =sinz, Vz,y,z € N gRT 9RuIf¥d &

feRamy f& ho (gof) = (hog) of.

O dra &

12. a1 & f:R — R, f(z) =2z —3 gRI

x + 3

oRUId & a2 g: R — Rg(z) = 5

gy g1 fe@mi fs fog = Ir = gof.


https://dl.doubtnut.com/l/_5m5jw0Ou6PJs
https://dl.doubtnut.com/l/_P4wLUUL9Zv6X
https://dl.doubtnut.com/l/_GbgvtE260zi1

O dra &

1. 7T 6 S = {1,2,3} 81 [effvd &9 f6 @

R B f:S — S &1 wfaeld BT & f ¢

STTd &3 Ife 9T 31 gl
(i) F={(1,2),(2,1), (3, N} (ii) f={(1,3),(3,2), (2, 1)}

(i) £=1{(1,1), (2, 2),(3,3)}

O drA &



https://dl.doubtnut.com/l/_GbgvtE260zi1
https://dl.doubtnut.com/l/_is6dDOr2blXG
https://dl.doubtnut.com/l/_Jol0n5uhI4y5

2. BRUT Ifgd dd8v fe =1 FgfafEad sl &
yferetd 21 ufaend off Aera afe eae! 31aa 2l

i)  9:{5,6,7,8} — {1,2,3,4}

g = {(57 4)7 (67 3)7 (77 4)7 (87 2)}

(ii) F:{(1,2,3,4) — {10} TRl

f= {(17 10)7 (27 10)7 (37 10)7 (47 10)}

Giiy h={2, 34,5} - {7,9,11,13} &

h ={2,7},{3,9}, {4, 11}, {5, 13}

O dfa &



https://dl.doubtnut.com/l/_Jol0n5uhI4y5
https://dl.doubtnut.com/l/_djZE2fwYpacL

3. A1 f& f:R — R, f(z) =3z +2 @RI
gRufyd &1 @ 5 f Ieeavim 2
f1:R - RA®M |

O dfra &

4.3C f: R — R, f(x) = 2z + 7 gRT aRwI¥d
2| ITfad B b f Vb 31<sTed 21 f ol Ufaany off
A |

O dfra &



https://dl.doubtnut.com/l/_djZE2fwYpacL
https://dl.doubtnut.com/l/_smNL2A0p08Px
https://dl.doubtnut.com/l/_e5MN6Q39UULu

5. 7M1 fos R i ardfdes I3 &1 A=Y ¢l

@@ 6 wed f: R — R, S f(z) = 3w;1

Ifl 2 ¢ R & fau, gr1 aR9IRA &, U Udbdl!

N<BIEH Bl g1 f Bl Ufded Y fAera |

O SrA &

6. f(z) =e*Vrc R, & R™ Jft e

dRdfde A3 BT A=A ¢, gRT IR Be
f:RT - RT W faOR 3| f &1 Ufceld BeiA
At afe g9 31 gl

O A&



https://dl.doubtnut.com/l/_e5MN6Q39UULu
https://dl.doubtnut.com/l/_mrXBmrRpHq9J

7. afe
f:[0,00) = [2,00), f(z) = z* +2V,z € R

gRTuRYIRA &, a1 f ! FAaprc|

O dfa &

8 AT A = {1234}, B = {2468 dul
f:A = B, f(z) =2cgRiucd g, arfaar f !

hifd oAl & T & Y A fod |

O A&



https://dl.doubtnut.com/l/_mrXBmrRpHq9J
https://dl.doubtnut.com/l/_1lIpU0ShiLfc
https://dl.doubtnut.com/l/_XK7T8vNMhzFz

9.9 f& f: R — R, f(z) = 4z + 3 gRT Uad

g1 forart 15 f eproi &1 f &1 ufaem Al |

O A&

10. FT1 f6 B f: N — Y, f(z) = 4z + 3,

GRIVGA R, 3B Y = {y € N:y = 4z + 3} fos=l
rc N & fow REw 6 f gepavig &1 f &
yfaed AT |

O dfa &



https://dl.doubtnut.com/l/_XK7T8vNMhzFz
https://dl.doubtnut.com/l/_wNxyxZXQ7Vp8
https://dl.doubtnut.com/l/_o8tcsNLYZZu9

n A & f2R, — (4,00), f(z) = z* +4

gRT ved &1 @ 5 f Fapaofig § &l £ o

ufaem f L8 f(y) = /y — 4gRIved 8l
O da &

12. HET fop % el
f:N — R, f(z) = 4z* + 12z + 15 3

gy 81 @ fé8 f: N —  (f &1 9vw)
AhHUI 21 f BT Ufcedd (AT |

O A R &



https://dl.doubtnut.com/l/_8FaWTt6UPZ5Q
https://dl.doubtnut.com/l/_NyvJ5fqRE5UV

13. HHT fo
Y ={n’:n € N} CN. f(z) =z gRI
gRUE B f: N — YV R R &3 fean &
f FhHUNT g1 f BT Ufeield Aot |

O A&

14.%cH £:{1, 2,3} — {a, b, ¢} R fdTR & il
29 YbR &A1 1T &, f(1) = a, f(2) = b TATf(3) = c.
fl @ e (1) R | gg o
e () =7


https://dl.doubtnut.com/l/_NyvJ5fqRE5UV
https://dl.doubtnut.com/l/_P2pdCecrDgTe
https://dl.doubtnut.com/l/_IRWgvKCQA1RA

O A&



https://dl.doubtnut.com/l/_IRWgvKCQA1RA

